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Note .— This question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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Answer the following questions :

frafafea aw=i & s ST

(i) What are Enumerators ?
Tk foRE Fed § 2

(i1)) What is meant by ‘Central Tendency’ ?
‘& g’ 9 T At ¥ 2

(i11) Write short note on ‘Coefficient of Variation’.
“foreron o’ W wfea feoroft fafem |

(iv) What 1is Spearman’s Rank Correlation
Coefficient ?
FoRREd 1 AR T8-9rY TOE F T 7

(v) What are the tests of a good index number ?
T =8 ARG & 1 e § 2

(vi) Why is y%-test called non-parametric test ?
y2-TeTO w SAYTICTA GOl F HET ST
€72

MAEC-04/8 (2) 7C-203



(vii) Find the probability of there being 53 Sundays

in a leap year selected at random.

9 YR W A T TH g 99 § 53 AqER eH
T gifaehar Jd HiST |

(viii) What is analysis of Variance ?

T faveieor = § 2

Section-B 4x8=32

(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.
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. Explain clearly the relationship between the

Binomial, Poisson and Normal distribution.

feue, wifaEl 3R JHMME S & IS TRy @i
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. Explain the various steps in tests of significance.

wedwmar Tem & fafi= =)o &1 e S |

. A bag contains 6 white and 4 black balls. 4 balls

are drawn at random one by one and are not put
back in the bag. What is the probability that they
will be alternatively of different colour ?

TH I H 6 B 3 4 Fret e T 4 W =g
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. Distinguish between diagrammatic and graphic

representation of data.
%l & foama iR fagiEa yeeii # e s
RIS |

. Calculate the median from the following data :

Marks No. of Students
0-10 15

10-20 10

20-30 27

30-40 14

40-50 22

50-60

60-70
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0-10 15
10-20 10
20-30 27
3040 14
40-50 22
50-60 8
60-70 8

160

7. If AC :E+5_3Q +2Q2 , then calculate MC.

160

'Clﬁ' AC:E‘F

5-3Q0+2Q? , @t MC 3@ =ifeu|

2

2 1 1
A= =
8. If {O 3} and B {2 3] then prove

(AB) = B'A’.

e A{

2 1
0 3

}aﬁTB:Bﬂﬁ?ﬁ

(AB) = B'A’ &t fag =ifsq|
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. Solve the following system of equations using

Cramer’s rule :

2x — 3y + 5z =11

Sx + 2y — 7z =-12

4x +3y+z=5
R & g w1 I wE T g gonet
B I

2x — 3y + 5z =11

Sx + 2y —T7z=-12

—4x + 3y +z=95

Section—-C 2x16=32

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 16 marks.
gug—d
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10. Calculate mean deviation and standard deviation
from the following table :

Marks No. of Students
0-10 3
10-20 6
20-30 9
3040 7
40-50 5
=1 9ot 9§ Hem foee ta 99 foeed @1 qiiee
QI
0-10 3
10-20 6
20-30 9
30-40 7
40-50 5
11. From the following data, determine the mode :
Central Size Frequency
15 5
25 9
35 13
45 21
55 20
65 15
75 8
85 3
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T TSl ¥ sgas A1q &L

TG SRR gt
15 S
25 9
35 13
45 21
55 20
65 15
75 8
85 3
1 2 2
12.1f A=|2 1 2|, then prove : A2 —4A - 51 =0
2 2 1
(I = Identity Matrix).
1 2 2
e A=|2 1 2| @ Ffag wifww fw:
2 21

A2 _4A-51=0 (I = &1 Hfew).

13. Explain the basic properties of determinants.

grfores w1 qat foeemed i e ST
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